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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What do you mean by ‘Cost centre’?

		  bmJV Ho$ÝÐ go AmnH$m ³¶m Ame¶ h¡?
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	 (ii)	 What do you mean by ‘Activity Based costing method’?

		  "{H«$¶m AmYm[aV bmJV {d{Y' go Amn ³¶m g‘PVo h¢?

	 (iii)	 Differentiate between abnormal wastage and abnormal 

effectives.

		  Agm‘mÝ¶ j¶ VWm Agm‘mÝ¶ ~MV ‘| à‘wI AÝVa ~VmB¶o&

	 (iv)	 Explain two limitations of standard costing.

		  à‘mn bmJV boIm§H$Z H$s Xmo gr‘mAm| H$mo ñnîQ> H$s{O¶o&

	 (v)	 What is ‘Inventory Turnover Ratio’? Give formula.

		  ñH§$ÝY AmdV© AZwnmV ³¶m h¡? BgH$s JUZm H$m gyÌ Xr{O¶o&

	 (vi)	 The standard time for a job is 20 hours @ ` 1 per hour. 

The job was actually finished in 15 hours. Calculate 

remuneration under Halsey bonus system.

		  EH$ CnH$m¶© Ho$ {b¶o à‘mn g‘¶ 1 ` à{V K§Q>o H$s Xa go 20 K§Q>o h¡& 
CnH$m¶© dmñVd ‘o 15 K§Q>o ‘| hr nyam H$a {b¶m J¶m h¡& hm°ëgo ~moZg 
¶moOZm Ho$ AZwgma Hw$b n[al{‘H$ kmV H$a|&

	 (vii)	P/V ratio for the firm is 60% variable cost of the product is 

` 360. Find out its selling price.

		  EH$ ’$‘© H$m bm^ ‘mÌm AZwnmV 60% h¡ VWm CËnmX H$s n[adV©Zerb 
bmJV ` 360 h¡ Vmo CgH$m {dH«$¶ ‘yë¶ kmV H$s{O¶o&

	 (viii)	What do you understand by ‘Master Budget’?

		  ‘mñQ>a ~OQ> go Amn ³¶m g‘PVo h¢?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Explain the following by giving suitable examples. (any two)

	 {ZåZ{b{IV H$mo Cn¶w³V CXmhaU g{hV g‘PmB¶o& (H$moB© Xmo)
	 (i)	 Rowan premium plan / amo~Z àr{‘¶‘ ¶moOZm
	 (ii)	 Piece Rate method / H$m¶©Xa {d{Y
	 (iii)	 Time Rate method / g‘¶ Xa {d{Y

3)	 What is meant by ‘Operating costing’? Also differentiate 

between ‘Absolute Tonne kilometers and commercial Tonne 

kilometers.

	 n[aMmbZ bmJV {ZYm©aU ar{V go ³¶m A{^àm¶ h¡? "n[aewÕ Q>Z {H$bmo‘rQ>a 
VWm "dm{UpÁ¶H$ Q>Z {H$bmo‘rQ>a' ‘| AÝVa ^r ñnîQ> H$s{O¶o&

4)	 Write short notes on following:

	 {ZåZ{b{IV na g§{jßV {Q>ßn{U¶m§ {b{I¶o&
	 (i)	 Joint product / (g§¶w³V CËnmX)
	 (ii)	 Normal wastage / (gm‘mÝ¶ j¶)

5)	 What is Ratio Analysis? Explain briefly any two ratios each for 
measuring. (i) Profitability (ii) Liquidity

	 AZwnmV {díbofU ³¶m h¡? (i)  bm^Xm¶H$Vm VWm (ii) VabVm H$m ‘mnZ 
H$aZo Ho$ {b¶o, àË¶oH$ hoVw {H$Ýht H$mo AZwnmVm| H$mo g§jon ‘| g‘PmB¶o&
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6)	 What do you understand by 'Horizontal Analysis’? What  
precautions should be taken while using this technique?

	 "j¡{VO {díbofU' go Amn ³¶m g‘PVo h¢? BgH$m à¶moJ H$aVo g‘¶ {H$Z 
- 2 gmdYm{Z¶m| H$mo Ü¶mZ ‘| aIZm Mm{h¶o?

7)	 A company produces a single product and sells it at ` 200 
each. The variable cost of the product is ` 120 per unit and 
fixed costs for the year is ` 96,000. 

	 EH$ H$ånZr {H$gr EH$ hr dñVw H$m CËnmXZ H$a 200 ` à{V BH$mB© H$s Xa 
go {dH«$¶ H$aVr h¡& n[adV©Zerb bmJV à{V BH$mB© 120 ` VWm dm{f©H$ 
pñWa bmJV 96,000 ` h¡& n[a’$bZ H$s{O¶o&

	 Calculate: / n[aH$bZ H$s{OE&
	 (i)	 P/V Ratio / bm^ ‘mÌm AZwnmV
	 (ii)	 Sales at Break even point / g‘{dÀN>oX {dH«$¶
	 (iii)	� Profit at a sales of ̀  7,00,000 / 7,00,000 ̀  H$s {~H«$s na bm^ 

H$s am{e

8)	 From the following information calculate cash from operating 
activities of m/s Ram and co for the year ended 31st March 
2017.

	 {ZåZ {b{IV gyMZmAm| go ‘¡gg© am‘ EÊS> H$ånZr hoVw 31 ‘mM© 2017 H$mo 
g‘mßV hmoZodmbo df© Ho$ {b¶o n[aMmbZ {H«$¶mAm| go ZH$X àdmh H$s JUZm 
H$s{O¶o…-

Balance sheet as at 31st March
Liabilities 31.3.2016

`
31.3.2017

`
Assets 31.3.2016

`
31.3.2017

`

Share capital 70,000 70,000 Fixed Assets 50,000 91,000

Secured Loans - 40,000 Inventory 15,000 40,000

Creditors 14,000 39,000 Debtors 5,000 20,000

Tax Payable 1000 3000 Cash 20,000 7,000

P & L A/c 7,000 10,000 Prepaid Expence 2,000 4,000

92,000 1,62,000 92,000 1,62,000
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Profit and Loss A/c
for the year ended 31st March 2017

` `

To Opening Inventory 15,000 By Sales 1,00,000

To Purchases 98,000 Closing Inventory 40,000

To Gross profit c/d 27,000

1,40,000 1,40,000

To General Expenses 9,000 By c/p bld 27,000

To Depreciation 8,000

To Interest 2,000

To Provison for tax 4,000

To Net profit c/d 4,000

27,000 27,000

To Dividend 1,000 By Bal. b/f 7,000

To Balance c/d 10,000 By N/P b/d 4,000

11,000 11,000

9)	 Explain what factors will affect the (i) Own or Lease decision  
(ii) Make or buy Decision.

	 g‘PmB¶o {H$ (i) ñdm{‘Ëd H«$¶ H$aZm ¶m nÅ>o na boZm VWm (ii) ~ZmZm ¶m 
H«$¶ H$aZm, {ZU©¶ H$mo H$m¡Z go KQ>H$ à^m{dV H$a|Jo?
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Discuss three important methods of absorption of factory 
overheads. Give merits and demerits of each method.

	 H$maImZm Cnarì¶¶m| Ho$ AdemofU H$s VrZ à‘wI nÕ{V¶m| H$s {ddoMZm 
H$s{O¶o& àË¶oH$ ar{V Ho$ gmno{jH$ JwU VWm Xmof ~VmB¶o&

11)	 Components A and B are used weekly as follows:
	 A VWm B àH$ma H$s gm‘J«r àË¶oH$ gámh ‘| {ZåZ àH$ma go à¶moJ ‘| bm¶r 

OmVr h¢…
	 Normal Usage (gm‘mÝ¶ Cn¶moJ) 50 units per week each
	 Minimum Usage (Ý¶yZV‘ Cn¶moJ) 25 units per week each
	 Maximum Usage (A{YH$V‘ Cn¶moJ) 75 units per week each
	 Reorder quantity (nwZ… AmXoe ‘mÌm) 
	 A : 300 units	 B : 500 units
	 Reorder period
	 A : 4 to 6 weeks (4 go 6 gámh) B : 2 to 4 weeks (2 go 4 gámh)
	 Calculate for each component: (a) Re-order level (b) Minimum 

stock level (c) Maximum stock level (d) Average Stock level  
àË¶oH$ àH$ma H$s gm‘J«r Ho$ {ZåZ ñVam| H$m n[aH$bZ H$s{O¶o…

	 (A) nwZ… AmXoe ñVa (~) Ý¶yZV‘ ñQ>m°H$ ñVa (g) A{YH$V‘ ñQ>m°H$ 
ñVa (S>) Am¡gV ñQ>m°H$ ñVa
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12)	 From the following information, calculate material variances:

	 {ZåZ{b{IV gyMZmAm| go, gm‘J«r {dMaUm| H$m n[aH$bZ H$s{O¶o&
Material

(gm‘J«r)
Standards

(à‘mn)
Actuals

(dmñV{dH$)
Silver 120 kg @ ` 5 112 kg @ ` 4.50

Brass 80 kg @ ` 10 88 kg @ ` 11

200 200

Less : Loss (j¶) 40 50

Output (CËnmXZ) 160 150

13)	 Write explanatory notes on following:

	 {ZåZ {b{IV na ì¶m»¶mË‘H$ {Q>ßn{U¶m± Xr{O¶o&
	 (a) 	 Zero base budgeting (eyÝ¶ AmYma ~OQ>Z)
	 (b)	 Flexible budget (bmoMerb ~OQ>)


